133-027( A-079) (1/1)

cm
10|20
10(20|30
0] 10 20 30 40 50 60
E 0.80 0.8 =
E \YAVAVAVAY, 2 2 =
IAVAVAVAWA H-154 / / =
\YAVAVAVAY] 32 32| 1.9

IAVAYAYAYA
(VAVAVAVEY: 1.47
JAVAVAVAWAY
(YAYAYAYAY]

IAYAYAYAYA 12.15 |
A\YAVAVAVAV
IAAYAYAYA
\YAVAVAVAY] 2.45
IAVAYAYAYA
\YAVAVAVAY]

o2
8o
8o

AANAN
VAVAVAVAY]
AANAN

VAVAVAVAY] 15
v
VAVAYAYAY]

AN 4.48
VAVAVAVAY]
IARAYAVAWAY

VAV |5.15] 2 2
30 0| 2

NAAA N 3.15 3 3 =
(VAVAVAVAY] =
IAYAYAYAYAY 30 30 3 3
A\YAVAVAVAV 3.45 =

s
IS
B~

3.9

IAYAYAYAYAY
7

OQ B 5.45 \

6.5 37 37 =
/ / 3
30 30| 37 =
6.45 =
7.15| 40 40 =
=7 / 3
30 30| 4q =
7.45 =
8.15| 13 13 —
7 / 3
30 30| 13 =
8.45 =
9.15| 18 18 —
s / =
30 30| 19
9.25
10.15| 17 17 =
7 / =
30 30| 17 =
10.45 3
15 15 -
11.15| & L =
30 30| 1 =
.45 3
12.15 14 14 =
/ / 3
30 30| 14
12.45 \\\\\\ =
13.15| 46 46 =
F==1 7 /
30 30| 4 =
13.45 =
50 50 =
14.00| / / 3
14 14 | 10 =
4,14 =
15.00] 30 30 =
] / =
30 30| 3q 3
15.30 E
16.00] % 50 =
25 25 | 6 — =
16.25 =
50 50 =
17.15] 7 Y =
2 22 |68.7 =
17.37 =
18.15 43 43 =
/ / =
30 30| 43 =
18.45 =
19.15| 25 2 =
/ / =
30 30| 24 =
19.45 3
23 23 -
20.15/ 2 x J
20.45 2.2 30 30| 23

20.45




